3 leptons Myp+p— Eguss NTh =0, Nb =0 NTh =1, Nb =0 th =0, Nb >1 N—rh =1, Nb >1
(GeV) | Obs. Exp. Obs. Exp. Obs. Exp. Obs. Exp.
OSSFO(SS) — (200, c0) 1 1.3+ 0.6 2 14+05 0 070036 | O 0.7 £ 0.5
OSSFO(SS) — (150,200) | 2 21+09 0 3.0+ 1.1 1 21+1.0 0 1.5+ 0.6
OSSFO(SS) — (100,150) | 9 10.0 = 4.9 4 99 +3.0 12 12.0£5.9 4 6.3 £ 238
OSSFO(SS) — (50,100) | 34 37 =15 54 66 + 14 32 32+15 24 22 +10
OSSFO(SS) — (0, 50) 47 46 =11 196 221 =51 28 24 +11 21  31.0%9.6
OSSFO  — (200, c0) | — — 5 48 +24 — — 6 59+3.1
OSSFO  — (150, 200) | — — 12 18.0 = 9.1 — — 21 20 =10
OSSFO  — (100, 150) | — — 94 96 + 47 — — 91 121 £ 61
OSSFO  — (50,100) | — — 351 329 + 173 — — 300 322 +163
OSSFO  — (0, 50) — — 682 767 + 207 — — 230 232+ 118
OSSF1 Below-Z (200, o0) 2 25+09 4 21+1.0 1 1.9 +0.7 2 24+12
OSSF1 On-Z (200, c0) 17 19.0+6.3 4 56+ 1.9 1 241038 3 21+09
OSSF1 Below-Z (150,200) | 7 44117 11 93146 3 47 +2.1 7 11.0 £ 59
OSSF1 On-Z (150,200) | 38  32.0+8.5 10 11.0 = 3.6 4 54+17 2 57 £27
OSSF1 Below-Z (100,150) | 21  26.0£9.9 45 56 & 27 20 23 +11 56 66 + 33
OSSF1 On-Z (100,150) | 134 129 +29 43 51 16 20 18t 6 24 28 =14
OSSF1 Below-Z  (50,100) | 157 129 £30 383 380 + 104 58 60 £ 28 166 173 =87
OSSF1 On-Z (50,100) | 862 7324141 | 1360 1230 4 323 80 62 + 17 117 101 +£48
OSSF1 Below-Z (0, 50) 543 559 +£93 | 10200 9170 & 2710 40 52+ 14 257 256 +79
OSSF1 On-Z (0,50) | 4040 4060 + 691 | 51400 51400 £ 15300 | 181 181 +=28 | 1000 1010 =+ 286




